

## Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 2, 2025

Progress Estimate Number 3	Contract ID Prime Contra		15-H02 Paving Co.	Pay Period S Pay Period I		,	•	\$2,653,959.40 \$0.00 \$2,653,959.40		
Approval Date								By User		
October 2, 2025			Gene	rated and Appr	oved (and should be	consider	ed Draft) at the Project Office Level by	olivem2		
October 2, 2025			Reviewed	and Approved	(and should be cons	idered Dı	raft) at the Resident Engineer Level by	stottt1		
October 3, 2025	Reviewed and Approved at the Central Office Controllers Office Level by ramses1									
Original Completi	letion Date Current Completion Date Actual Completion Date % of Current Contract Amount Complete									
November 1, 2	2025	Nove	mber 1, 2025				94.64%			
	Co	ontract Informa	ational Dates				Milestones			
Date Description	Original Cor	mpletion Date	Current Cor	mpletion Date		No Miles	tones Exist for Contract			
Acceptance Date										
Awarded Date	December 4,	2024	December 4	, 2024						
Letting Date	November 15	5, 2024	November 1	5, 2024						
Notice to Proceed Date	January 6, 20	025	January 6, 2	025						
Work Began Date										

Contract Total Pa	Contract Total Pay For Estimate No. 3											
		This Estimate	Previous	To Date								
241115-H02												
	Total Posted Items Pay	\$981,101.79	\$1,530,482.98	\$2,511,584.77								
	Gross Item Adjustments	(\$185,286.10)	\$5,784.35	(\$179,501.75)								
	Incentive	\$0.00	\$0.00	\$0.00								
	Disincentive	\$0.00	\$0.00	\$0.00								
	Liquidated Damage	\$0.00	\$0.00	\$0.00								
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00								
			<b>\$1,536,267.33</b>	\$2,332,083.02								
Contract Total Pa	avahle This Estimate:	\$795 815 69										

## Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3667	0020	2063000	CLASS 3 EXCAVATION	CUYD	\$20.000	90	\$1,800.00
	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	SQYD	\$20.000	57	\$1,140.00
	0800	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	TONS	\$86.500	10,927.560	\$945,233.94
	0100	4071005	TACK COAT	GAL	\$3.150	6,139	\$19,337.85
	0360	7250330A	30 IN. PIPE GROUP B	LF	\$210.000	49	\$10,290.00
	0370	7320030A	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	EA	\$1,650.000	2	\$3,300.00

 Project J9P3667 - Total
 \$981,101.79

 Overall - Total
 \$981,101.79

## Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3667	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-57	\$20.00	(\$1,140.00)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	57	\$20.00	\$1,140.00
	0800	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Material			-12,373.32000	\$86.50	(\$1,070,292.18)
	0080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on	12,373.32000	\$86.50	\$1,070,292.18

Revision 9/2/2025 Page 1 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary

## Pay Estimate Created Date: October 2, 2025

Pro Estimat	gress e Num 3	Contract ID ber Prime Contractor			Pay Period End September 30, 2025 Net C				Original Contract Amount Net Change Order Amount Current Contract Amount				
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments			Line Item Adjustment Unit Price	Adjustment amount			
J9P3667					the current F	Payment Estimate.							
	0080	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Other Item Adjustment	Asphalt Cement Price Adjustment	10,927.56 T	ons of BP-2 25-70 laid thi	s period.			\$8,086.39			
	0800	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	Overrun					-2,235.52000	\$86.50	(\$193,372.49)			
	0090	MISC.	Material					-2,193.07000	\$80.70	(\$176,980.75)			
	0090	MISC.	Material		generated M Adjustment overridding I	nent offsets the original sy laterial Payment Estimate (0004) due to user olivem Payment Estimate Except Payment Estimate.	tem 2	2,193.07000	\$80.70	\$176,980.75			
Total										(\$185,286.10)			

Revision 9/2/2025 Page 2 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informati	on						
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
J9P3667	FAF Resurface 62-1 (31) FOR Arkansas State line to Route 53 and from Route 53 to Route 25 near Campbell												
Totals I	by Job N	umbers											
J9P3667		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$981,101.79 (\$185,286.10) \$795,815.69	Previous \$1,530,482.98 \$5,784.35 <b>\$1,536,267.33</b>	To Date \$2,511,584.77 (\$179,501.75) \$2,332,083.02						
	Liquid	tive centive dated Damage · Contract Adji		s	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00						

Revision 5/29/2025 Page 3 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

## **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 3040506, Project Item Line Number 0050, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	olivem2- Material accepted based on visual inspection.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 4011211, Project Item Line Number 0080, Material Set 401121196, Material 0401BPPMBP2 - Plant Mix for Bit Pavement BP-2, Acceptance Action Generic AspLow is insufficient.	olivem2- Materials testing results have been requested from the contractor.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 4029910, Project Item Line Number 0090, Material Set 4029910, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	olivem2- Materials testing results have been requested from the contractor.	olivem2	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-H02, Contract Project J9P3667, Project Item Line Number 0080, Contract Line Item Number 0080, Item 4011211, Minor Item.	olivem2- Change Order to be processed.	olivem2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-H02, Contract Project J9P3667, Project Item Line Number 0090, Contract Line Item Number 0090, Item 4029910, Minor Item.	olivem2- Change Order to be processed.	olivem2	Acknowledged

Revision 5/29/2025 Page 4 of 10



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ontract ID					Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEI To Date (See repor generated date)
1115-	J9P3667	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$10,500.00	\$0.0
2		0001	0020	2063000	CLASS 3 EXCAVATION	90.00	0.00	90.00	CUYD	90.00	\$20.00	\$1,800.
		0001	0030	2129900	MISC.SHOULDER GRADING	420.00	0.00	420.00	100F	420.00	\$97.00	\$40,740.
		0001	0040	2152000A	SHAPING SLOPES, CLASS II	2.00	0.00	2.00	100F	0.00	\$1,850.00	\$0.
	0001 0050 3040506 TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)						0.00	57.00	SQYD	57.00	\$20.00	\$1,140.
		0001	0060	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	899.60	0.00	899.60	TONS	1,427.55	\$49.00	\$69,949.
		0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	93.00	0.00	93.00	TONS	0.00	\$49.00	\$0.
		0001	0080	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	20,137.80	0.00	20,137.80	TONS	22,373.32	\$86.50	\$1,935,292.
		0001	0090	4029910	MISC.OPTIONAL SHOULDER BASE	2,142.40	0.00	2,142.40	TONS	2,193.07	\$80.70	\$176,980.
		0001	0100	4071005	TACK COAT	17,843.00	0.00	17,843.00	GAL	15,275.00	\$3.15	\$48,116.
		0001	0110	4091048	EMULSIFIED ASPHALT, SEAL COAT	207.00	0.00	207.00	GAL	0.00	\$12.00	\$0.
		0001	0120	4094021	SEAL COAT AGGREGATE, GRADE C	690.00	0.00	690.00	SQYD	0.00	\$9.00	\$0.
		0001	0130	6083003	3 IN. CONCRETE MEDIAN STRIP	31.60	0.00	31.60	SQYD	0.00	\$170.00	\$0.
		0001	0140	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$5,000.00	\$0.
		0001	0150	6122020	REPLACEMENT SAND BARREL	2.00	0.00	2.00	EA	0.00	\$250.00	\$0.
		0001									\$2.500.00	
		0001	0160	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	0.00		\$0.
		0001	0170	6161005	CONSTRUCTION SIGNS	2,168.00	0.00	2,168.00	SQFT	471.25	\$6.50	\$3,063.
		0001	0180	6161025	CHANNELIZER (TRIM-LINE)	150.00	0.00	150.00	EA	0.00	\$5.00	\$0.
		0001	0190	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,000.
		0001	0200	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	0.00	\$6,000.00	\$0.
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS		\$183,000.00	\$183,000.
		0001	0220	6181020	ADDITIONAL MOBILIZATION FOR SEEDING PREFORMED THERMOPLASTIC PAVEMENT MARKING. 6 IN.	2.00	0.00	2.00	EA LF	0.00	\$600.00	\$0.
		0001	0230	6200009	WHITE	56.00	0.00	56.00	LF	0.00	\$10.00	\$0 \$0
			0240	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	42.00	0.00	42.00	LF	0.00	\$35.00	\$0
		0001	0250	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	686.00	0.00	686.00	LF	0.00	\$3.00	\$0
		0001	0260	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	0.00	\$3.00	\$0
		0001	0270	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	25.00	0.00	25.00	LF	0.00	\$10.00	\$0
		0001	0280	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,235.00	0.00	106,235.00	LF	0.00	\$0.14	\$0
		0001	0290	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	60,384.00	0.00	60,384.00	LF	0.00	\$0.14	\$0
		0001	0300	6207001	PAVEMENT MARKING REMOVAL	3,121.00	0.00	3,121.00	LF	0.00	\$1.50	\$0
		0001	0310	6209902	MISC.ACCESSIBLE PARKING SYMBOL - WHITE ON BLUE	4.00	0.00	4.00	EA	0.00	\$500.00	\$0
		0001	0320	6209903	MISC.PAVEMENT MARKING BLUE WATERBORNE	80.00	0.00	80.00	LF	0.00	\$10.00	\$0
		0001	0330	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	11,032.00	0.00	11,032.00	SQYD	9,825.37	\$6.33	\$62,194
		0001	0340	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,034.00	0.00	4,034.00	SQYD	2,354.72	\$3.90	\$9,183
		0001	0350	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	929.70	0.00	929.70	STA	0.00	\$10.50	\$0
		0001	0360	7250330A	30 IN. PIPE GROUP B	49.00	0.00	49.00	LF	49.00	\$210.00	\$10,290
		0001	0370	7320030A	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,650.00	\$3,300
		0001	0380	8025006	MULCHING	14.60	0.00	14.60	ACRE	0.00	\$1,550.00	\$0
		0001	0390	8051000A	SEEDING - COOL SEASON GRASSES	9.70	0.00	9.70	ACRE	0.00	\$2,200.00	\$0
		0001	0400	8061005	ROCK DITCH CHECK	540.00	0.00	540.00	LF	0.00	\$15.50	\$0
		0001	0410	8061006	ALTERNATE DITCH CHECK	120.00	0.00	120.00	LF	0.00	\$12.00	\$0
		0001	0420	8061016	SEDIMENT REMOVAL	65.00	0.00	65.00	CUYD	0.00	\$5.00	\$0
		0001	0430	8061017	TEMPORARY SEEDING	4.90	0.00	4.90	ACRE	0.00	\$650.00	\$0
		0001	0440	8061019	SILT FENCE	1,000.00	0.00	1,000.00	LF	0.00	\$4.90	\$0
		0010	0450	6061060	MGS GUARDRAIL	75.00	0.00	75.00	LF	0.00	\$35.00	\$0
		0010	0460	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	0.00	\$4,000.00	\$0
		0010	0470	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	0.00	\$3,500.00	\$0
		0040	0480	9031210	STRUCTURAL STEEL POSTS	150.00	0.00	150.00	LB	0.00	\$15.00	\$0
		0040	0490	9031260	WOOD POST, 4 IN. BY 4 IN.	96.00	0.00	96.00	LF	0.00	\$27.75	\$0
		0040	0500		2 IN. PSST POST - 12 GA.	509.00	0.00	509.00	LF	0.00	\$25.00	\$0
		0040	0510		DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	45.00	0.00	45.00	EA	0.00	\$150.00	\$0
0040		0040	0520	9031280	2.5 IN. PSST POST - 12 GA.	98.00	0.00	98.00	LF	0.00	\$25.00	\$0
			0020	3001200	2.5 501 1 001 - 12 0/1.	30.00	0.00	30.00	LI.	0.00	φ <b>2</b> 0.00	φυ

Revision 5/29/2025 Page 5 of 10



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	J9P3667	0040	0540	9035004A	SH-FLAT SHEET	322.00	0.00	322.00	SQFT	0.00	\$25.00	\$0.00
H02		0040	0550	9035069A	SHF-FLAT SHEET FLUORESCENT	128.00	0.00	128.00	SQFT	0.00	\$30.00	\$0.00
		0070	0560	7034600	CURB BLOCKOUT	314.00	0.00	314.00	LF	0.00	\$165.00	\$0.00
	Project J9P3667 - Total Value Posted to Date as of Report Generated Date										\$2,550,050.25	
241115-H02 Overall - Total Value Posted to Date as of Report Generated Date										\$2,550,050.25		

Revision 5/29/2025 Page 6 of 10



## Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3667

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2063000	CLASS 3 EXCAVATION	9/30/25	10/1/25	1	90.00	CUYD	Plan Quantity for Route B cross pipe excavation					
0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	9/30/25	10/1/25	1	57.00	SQYD	Base rock for fill around pipe replacement at Route B/62 intersection near railroad crossing					
0800	4011211	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	9/16/25	9/22/25	1	1,106.25	TONS	West Bound mainline	7.047	LT	5.428		
			9/17/25	9/22/25	1	1,545.30	TONS	East bound mainline	8.18	RT	5.925		
			9/18/25	9/22/25	1	1,541.44	TONS	East bound shoulder	5.528	RT	7.367		
			9/26/25	10/1/25	1	1,827.68	TONS	East bound shoulder	7.367	RT	9.414		
			9/27/25	10/1/25	1	1,113.20	TONS	East bound shoulder	9.414	RT	10.84		
				10/1/25	2	798.10	TONS	West bound shoulder	10.84	LT	9.744		
			9/29/25	10/1/25	1	2,052.01	TONS	West bound shoulder	9.744	LT	6.778		
			9/30/25	10/1/25	1	922.65	TONS	West bound shoulder	6.778	LT	5.528		
				10/1/25	2	20.93	TONS	Route B cross pipe replacement 10" thick					
0100	4071005	TACK COAT	9/16/25	9/22/25	1	677.00	GAL	West Bound mainline	7.047	LT	5.428		
			9/17/25	9/22/25	1	870.00	GAL	East bound mainline					
			9/18/25	9/22/25	1	1,063.00	GAL	East bound shoulder	5.528	RT	7.367		
			9/26/25	10/1/25	1	1,837.00	GAL	1900 gal reported					
			9/29/25	10/1/25	1	1,595.00	GAL	1650 gal reported					
			9/30/25	10/1/25	1	97.00	GAL	100 gal reported					
0360	7250330A	30 IN. PIPE CULVERT GROUP B	9/30/25	10/1/25	1	49.00	LF	Cross pipe at Route B/62 intersection					
0370	7320030A	30 IN. GROUP B FLARED END SEC	9/30/25	10/1/25	1	2.00	EA	Cross Pipe at Route B/62 intersection					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 10



## Line Item Adjustments by Estimate

Contract ID: 241115-H02

ect l	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
667 0	0050	TYPE 5 AGGREGATE	Material		3	Oct 2, 2025	SYSTEM	(\$1,140.00)	
		FOR BASE (6 IN. THICK)			3	Oct 2, 2025	SYSTEM	\$1,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
0	0050 -	Total						\$0.00	
0	080	BIT. PAVEMENT MIXTURE	Material		2	Sep 16, 2025	SYSTEM	(\$125,058.24)	
		PG64-22 (BP-2)			2	Sep 16, 2025	SYSTEM	\$125,058.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Oct 2, 2025	SYSTEM	(\$1,070,292.18)	
					3	Oct 2, 2025	SYSTEM	\$1,070,292.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item Adjustment	ACAD	2	Sep 16, 2025	olivem2	\$8,469.86	AC adjustment for 11445.76 tons installed of BP-2 25-70 this period (9/2-9/15)
					3	Oct 2, 2025	olivem2	\$8,086.39	10,927.56 Tons of BP-2 25-70 laid this period.
				ACAD - Tot	al			\$16,556.25	
			Other Item	Adjustment -	Total			\$16,556.25	
			Overrun	Overrun	3	Oct 2, 2025	SYSTEM	(\$193,372.49)	
				Overrun - T	otal			(\$193,372.49)	
			Overrun - T	otal				(\$193,372.49)	
0	080 -	Total						(\$176,816.24)	
0	090	MISC. BITUMINOUS	Material		2	Sep 16, 2025	SYSTEM	(\$176,980.75)	
		PAVEMENT (SURF. LEVEL)			2	Sep 16, 2025	SYSTEM	\$176,980.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Oct 2, 2025	SYSTEM	(\$176,980.75)	
					3	Oct 2, 2025	SYSTEM	\$176,980.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Sep 16, 2025	olivem2	\$1,403.56	AC adjustment for 2193.07 tons installed of BB 25-26 this period (9/2-9/15)
				ACAD - Tot	al			\$1,403.56	
			Other Item	Adjustment -	Total			\$1,403.56	
			Overrun	Overrun	2	Sep 16, 2025	SYSTEM	(\$4,089.07)	
				Overrun - T	otal			(\$4,089.07)	
			Overrun - T	otal				(\$4,089.07)	
0	090 -	Total						(\$2,685.51)	
0	0170	CONSTRUCTION SIGNS	Material		1	Sep 2, 2025	SYSTEM	(\$1,378.00)	
					1	Sep 2, 2025	SYSTEM	\$1,378.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
0	0170 -	Total						\$0.00	
U		· Jui						φυ.υυ	

Oct 4, 2025



## Line Item Adjustments by Estimate

Contract ID: 241115-H02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3667	0190	CHANGEABLE MESSAGE SIGN	Material		1	Sep 2, 2025	SYSTEM	(\$5,000.00)	
		WITHOUT COMMUNICATION INTERFACE, CONTRACTOR			1	Sep 2, 2025	SYSTEM	\$5,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		FURNISHED / RETAINED		- Total				\$0.00	
			Material - To	otal				\$0.00	
	0190 -	Total						\$0.00	
J9P3667 - Total							(\$179,501.75)		
Overall - Total							(\$179,501.75)		

# MoDOT

## **Contract Adjustments for Contract - 241115-H02**

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 10 of 10